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Evaluating �� for the ansatz gives

A

�1

d

2

�

dr

2

=

8�r

2

(r

2

+ �

2

)

3

�

2�

(r

2

+ �

2

)

2

and

A

�1

3

r

d�

dr

= �

6�

(r

2

+ �

2

)

2

:

Summing the two terms, we �nd
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The potential term gives
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This �xes A as �8A��A
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= 0 or A =

p

�8=�. Thus the 
oupling 
onstant � should be negative.

Next we 
al
ulate the a
tion,
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we �nd
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For ba
kground and generalisation to arbitrary spa
etime dimension d see S. Fubini, \A New

Approa
h to Conformal Invariant Field Theories," Nuovo Cim. A 34, 521 (1976).
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